
Board 1
North Deals
None Vul

♠ J 6 3
♥ Q 9
♦ K 5 3 2
♣ A 7 5 3

♠ A K Q 10
♥ 10 6 2
♦ J 9 8 4
♣ Q 6

♠ 9 4 2
♥ 8 7 5 4
♦ Q 10
♣ K J 10 9

♠ 8 7 5
♥ A K J 3
♦ A 7 6
♣ 8 4 2

N

W E

S

North 10 HCP, South 12 HCP - so South becomes Declarer.
Without any 8-card suit fit, South chooses to play in NT. With 
less than 25 HCP between the hands, they choose the 
cheapest partscore in 1 NT - a contract for 7 tricks.
West leads the top of their sequence, ♠ A, then they lead 3 
more ♠ tricks with the K, Q, and 10. On the 4th ♠ the other 
players have to discard. Declarer discards a ♣ from one hand 
and a ♦from the other, keeping 4 ♥s in their hand to ensure 
they get 4 tricks in ♥s, 2 top ♦s and ♣ A to make 7 in total, 
which they can cash when they get the lead.
On trick 5 West will have to lead a new suit, the ♦ 4 is the 
recommended switch.
When Declarer plays on ♥s, it is easiest to lead, or lead to the 
♥ Q first.
(Honour in short hand first - more on this topic in Module 2 
next week).

Board 2
East Deals
N-S Vul

♠ Q 10 9 2
♥ J 9 8 3
♦ 7 4
♣ 5 4 2

♠ J 7 5
♥ A Q 4
♦ K 8 3 2
♣ 9 7 6

♠ A 8 4 3
♥ K 7 5
♦ A 6
♣ K Q J 10

♠ K 6
♥ 10 6 2
♦ Q J 10 9 5
♣ A 8 3

N

W E

S

East chooses to play in 3 NT as they have no suit fit and more 
than 25 HCP. 
South leads ♦ Q top of their sequence.
To get enough tricks to make the 9 required for 3 NT, Declarer 
needs to establish 3 extra tricks in ♣s. So, once they win the 
lead with ♦ A, Declarer should next play on ♣s to force out 
the ♣ A to give them the 9 tricks required to make 3 NT. They 
need to refrain from cashing the ♦ K early, as they need this 
to retain control of the ♦ suit to prevent the opponents getting 
their ♦tricks before their ♣s are established.

Board 3
South Deals
E-W Vul

♠ J 10
♥ K 9
♦ K Q J 10 9 4
♣ A K 5

♠ Q 9 2
♥ 5 3 2
♦ A 6 2
♣ 10 8 7 6

♠ A 7 6 3
♥ Q J 10 8
♦ 8 7 3
♣ J 3

♠ K 8 5 4
♥ A 7 6 4
♦ 5
♣ Q 9 4 2

N

W E

S

North is Declarer in 3 NT. East leads ♥ Q, top of the 
sequence. 
Declarer is best to win the opening lead with the ♥ K in their 
hand. As soon as they get the lead, they can play on ♦s to 
establish an extra 5 tricks in that suit. After that, they can win 
3 top ♣ tricks to go with their 5 ♦ tricks and 2 top ♥ tricks to 
make 10 total tricks - an overtrick in their 3 NT contract.

Board 4
West Deals
Both Vul

♠ 10 8 6 2
♥ Q J 10 8 2
♦ 8 7
♣ 6 5

♠ Q 5
♥ A K 5
♦ Q J 10 2
♣ A 9 3 2

♠ A K J 3
♥ 7 6 4
♦ K 5 4
♣ J 8 4

♠ 9 7 4
♥ 9 3
♦ A 9 6 3
♣ K Q 10 7

N

W E

S

West is Declarer in 3 NT. North leads ♥ Q, top of the 
sequence.
Once Declarer wins the lead in their hand with ♥ K or ♥ A, 
they should play on ♦s to establish 3 extra tricks in that suit 
by leading to the ♦ K 5 4 to force out the Ace. Then the 3 ♦ 
tricks together with the 4 ♠ tricks, 2 ♥ tricks and ♣ A will be 
10 tricks - one more than they need to make 3 NT, i.e. game 
plus an overtrick!
After establishing the ♦ tricks, when Declarer plays on the ♠ 
suit, they should play the ♠ Q first, so they can on the next 
round of the suit cross to the other 3 other ♠ winners in 
Dummy having the lead in the right hand.
(Honour in short hand first - more on this topic in Module 2).
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Board 5
North Deals
N-S Vul

♠ A Q 6 5 4
♥ 7 2
♦ A 3 2
♣ Q J 2

♠ 3 2
♥ A 8 4 3
♦ K Q 9 5
♣ 8 7 6

♠ J 7
♥ K Q 10 9
♦ 10 7 6
♣ A 10 9 3

♠ K 10 9 8
♥ J 6 5
♦ J 8 4
♣ K 5 4

N

W E

S

North chooses a contract of 1 ♠. East leads ♥ K.
With just 21 HCP in the 2 hands, N plays at the minimum level 
in the ♠ Major suit fit.
The defence can cash 2 ♥ tricks, then Declarer can ruff (i.e. 
win with a trump) on the 3rd round of ♥s. Once Declarer gains 
the lead they should draw trumps, which takes 2 rounds of the 
suit. Then play on ♣s to force out the opponent's Ace to 
establish 2 extra ♣ tricks. With the ♦ A as well, Declarer 
should make 8 tricks, i.e. the contract made, plus an overtrick. 
.
.
.

Board 6
East Deals
E-W Vul

♠ 9 8 5
♥ 10 9 7 3
♦ A 10
♣ Q 10 9 5

♠ Q J 7 4
♥ J 8 6
♦ K 6 4
♣ J 3 2

♠ A K 6 3
♥ 5 4
♦ Q J 3 2
♣ K 7 6

♠ 10 2
♥ A K Q 2
♦ 9 8 7 5
♣ A 8 4

N

W E

S

1 ♠ by E. South leads ♥ A.
South continues leading ♥s but Declarer can ruff the third 
round of the suit, winning with a small trump from their hand. 
Declarer should then draw trumps until the opponents' have 
no more (in 3 rounds), then play on ♦s to set up tricks in that 
suit to make their contract. 
.
.
.

Board 7
South Deals
Both Vul

♠ J 10 9 7 4
♥ 6 4
♦ 10 9 6
♣ A 6 2

♠ K 8 2
♥ A K Q 10 9 8
♦ K J
♣ J 7

♠ A Q 3
♥ J 3 2
♦ A 7 3 2
♣ 10 9 3

♠ 6 5
♥ 7 5
♦ Q 8 5 4
♣ K Q 8 5 4

N

W E

S

4 ♥ by W, North leads ♠ J.
When Declarer gains the lead, they should draw trumps, 
which takes 2 rounds. After drawing trumps they can cash 
their 3 ♠ tricks in addition to their 6 ♥ tricks and 2 top ♦tricks 
to make 11 tricks in total - an overtrick in the 4 ♥contract.

Board 8
West Deals
None Vul

♠ K 10 2
♥ Q 2
♦ K 10 8 5 2
♣ Q 4 3

♠ Q 8 7 4
♥ 10 9 6
♦ J 9
♣ A K 10 9

♠ J 9 6 3
♥ J 7
♦ Q 6 4 3
♣ J 7 2

♠ A 5
♥ A K 8 5 4 3
♦ A 7
♣ 8 6 5

N

W E

S

4 ♥ by S. West leads ♣ A.
Declarer should draw trumps as soon as they get the lead. 
Once they gain the lead, it is easiest for Declarer to draw 
trumps by leading or leading to the ♥ Q first, then on the next 
round of ♥s the lead will cross to hand and they then have the 
lead in their own hand to draw the third round of trumps.
(Honour in short hand first - more on this topic in Module 2).

The contract should make 11 tricks because of the lucky 
position of the ♣ Q.
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[Event ""]

[Site ""]

[Date ""]

[Board "1"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "None"]

[Deal "N:J63.Q9.K532.A753 942.8754.QT.KJT9 875.AKJ3.A76.842 AKQT.T62.J984.Q6"]

{North 10 HCP, South 12 HCP - so South becomes Declarer.\n

Without any 8-card suit fit, South chooses to play in NT. With less than 25 HCP

between the hands, they choose the cheapest partscore in 1NT - a contract for 7

tricks.\n

West leads the top of their sequence, \SA, then they lead 3 more \S tricks with

the K, Q, and 10. On the 4th \S the other players have to discard. Declarer

discards a \C from one hand and a \Dfrom the other, keeping 4 \Hs in their hand

to ensure they get 4 tricks in \Hs, 2 top \Ds and \CA to make 7 in total, which

they can cash when they get the lead.\n

On trick 5 West will have to lead a new suit, the \D4 is the recommended

switch.\n

When Declarer plays on \Hs, it is easiest to lead, or lead to the \HQ first.\n

<i><span style=color:#00f>(Honour in short hand first - more on this topic in

Module 2 next week).</span></i>}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "5b"]



[Event ""]

[Site ""]

[Date ""]

[Board "2"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "NS"]

[Deal "E:A843.K75.A6.KQJT K6.T62.QJT95.A83 J75.AQ4.K832.976 QT92.J983.74.542"]

{East chooses to play in 3NT as they have no suit fit and more than 25 HCP. \n

South leads \DQ top of their sequence.\n

To get enough tricks to make the 9 required for 3NT, Declarer needs to

establish 3 extra tricks in \Cs. So, once they win the lead with \DA, Declarer

should next play on \Cs to force out the \CA to give them the 9 tricks required

to make 3NT. They need to refrain from cashing the \DK early, as they need this

to retain control of the \D suit to prevent the opponents getting their

\Dtricks before their \Cs are established.}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "5f"]



[Event ""]

[Site ""]

[Date ""]

[Board "3"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "EW"]

[Deal "S:K854.A764.5.Q942 Q92.532.A62.T876 JT.K9.KQJT94.AK5 A763.QJT8.873.J3"]

{North is Declarer in 3NT. East leads \HQ, top of the sequence. \n

Declarer is best to win the opening lead with the \HK in their hand. As soon as

they get the lead, they can play on \Ds to establish an extra 5 tricks in that

suit. After that, they can win 3 top \C tricks to go with their 5 \D tricks and

2 top \H tricks to make 10 total tricks - an overtrick in their 3NT contract.}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "5f"]



[Event ""]

[Site ""]

[Date ""]

[Board "4"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "All"]

[Deal "W:Q5.AK5.QJT2.A932 T862.QJT82.87.65 AKJ3.764.K54.J84 974.93.A963.KQT7"]

{West is Declarer in 3NT. North leads \HQ, top of the sequence.\n

Once Declarer wins the lead in their hand with \HK or \HA, they should play on

\Ds to establish 3 extra tricks in that suit by leading to the \DK 5 4 to force

out the Ace. Then the 3 \D tricks together with the 4 \S tricks, 2 \H tricks

and \CA will be 10 tricks - one more than they need to make 3NT, i.e. game plus

an overtrick!\n

After establishing the \D tricks, when Declarer plays on the \S suit, they

should play the \SQ first, so they can on the next round of the suit cross to

the other 3 other \S winners in Dummy having the lead in the right hand.\n

<i><span style=color:#00f>(Honour in short hand first - more on this topic in

Module 2).</span></i>}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "5f"]



[Event ""]

[Site ""]

[Date ""]

[Board "5"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "NS"]

[Deal "N:AQ654.72.A32.QJ2 J7.KQT9.T76.AT93 KT98.J65.J84.K54 32.A843.KQ95.876"]

{North chooses a contract of 1\S. East leads \HK.}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{With just 21 HCP in the 2 hands, N plays at the minimum level in the \S Major

suit fit.\n

The defence can cash 2 \H tricks, then Declarer can ruff (i.e. win with a

trump) on the 3rd round of \Hs. Once Declarer gains the lead they should draw

trumps, which takes 2 rounds of the suit. Then play on \Cs to force out the

opponent's Ace to establish 2 extra \C tricks. With the \DA as well, Declarer

should make 8 tricks, i.e. the contract made, plus an overtrick. \n

<span style=color:#fff>.</span>\n

<span style=color:#fff>.</span>\n

<span style=color:#fff>.</span>

















}

[BCFlags "5f"]



[Event ""]

[Site ""]

[Date ""]

[Board "6"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "EW"]

[Deal "E:AK63.54.QJ32.K76 T2.AKQ2.9875.A84 QJ74.J86.K64.J32 985.T973.AT.QT95"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{1\S by E. South leads \HA.\n

South continues leading \Hs but Declarer can ruff the third round of the suit,

winning with a small trump from their hand. Declarer should then draw trumps

until the opponents' have no more (in 3 rounds), then play on \Ds to set up

tricks in that suit to make their contract. \n

<span style=color:#fff>.</span>\n

<span style=color:#fff>.</span>\n

<span style=color:#fff>.</span>



}

[BCFlags "1f"]



[Event ""]

[Site ""]

[Date ""]

[Board "7"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "All"]

[Deal "S:65.75.Q854.KQ854 K82.AKQT98.KJ.J7 JT974.64.T96.A62 AQ3.J32.A732.T93"]

{4\H by W, North leads \SJ.\n

When Declarer gains the lead, they should draw trumps, which takes 2 rounds.

After drawing trumps they can cash their 3 \S tricks in addition to their 6 \H

tricks and 2 top \Dtricks to make 11 tricks in total - an overtrick in the

4\Hcontract.

}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "5f"]



[Event ""]

[Site ""]

[Date ""]

[Board "8"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "None"]

[Deal "W:Q874.T96.J9.AKT9 KT2.Q2.KT852.Q43 J963.J7.Q643.J72 A5.AK8543.A7.865"]

{4\H by S. West leads \CA.\n

Declarer should draw trumps as soon as they get the lead. Once they gain the

lead, it is easiest for Declarer to draw trumps by leading or leading to the

\HQ first, then on the next round of \Hs the lead will cross to hand and they

then have the lead in their own hand to draw the third round of trumps.\n

<i><span style=color:#00f>(Honour in short hand first - more on this topic in

Module 2).</span></i>



The contract should make 11 tricks because of the lucky position of the \CQ.}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "5f"]
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